
FDA and EMA oversight of disruptive science on the application of 
Finite Absorption Time (F.A.T.) concept in oral drug absorption: Time 
for scientific and regulatory changes 
E. Toulitsis, A. A. Tsekouras, P. Macheras 

Supplementary information 

 

Figure S1. Fittings of Bateman Equation (Eq.2). (A)Ketoprofen experimental data 
[33]; (B) Amlodipine experimental data [34].The top panel depicts the fit residuals. 

 

  

 

Figure S2. Fittings of Bateman Equation (Eq. 2). (A) Theophylline (Immediate 
Release) experimental data [35]; (B) Theotrim (Extended Release) experimental data 
[35]; (C) TheoDur (Extended Release) experimental data [35]. The top panel depicts 
the fit residuals. 
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Ketoprofen

FD/Vd = 0.04 ± 0.3 mg/mL
ka = 1.12 ± 10.7 h-1

kel = 1.12 ± 10.09 h-1

χ2 = 5.3511e-05,  R2 = 0.94138
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Amlodipine

FD/Vd = 6.4 ± 0.7 ng/mL
ka = 0.25 ± 0.05 h-1

kel = 0.029 ± 0.006 h-1

χ2 = 2.6683,  R2 = 0.97089
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Theo-IR

FD/Vd = 0.01 ± 0.0004 mg/mL
ka = 1.06 ± 0.1 h-1

kel = 0.1 ± 0.009 h-1

χ2 = 1.5745e-06,  R2 = 0.99221
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Theotrim

FD/Vd = 0.007 ± 0.001 mg/mL
ka = 0.19 ± 0.04 h-1

kel = 0.09 ± 0.02 h-1

χ2 = 7.6924e-07,  R2 = 0.98229
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TheoDur

FD/Vd = 0.008 ± 0.03 mg/mL
ka = 0.1 ± 0.5 h-1

kel = 0.1± 0.4h-1

χ2 = 4.6668e-06,  R2 = 0.92935
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Figure S3. Fittings of Bateman Equation (Eq. 2). (A) Levonorgestrel (Reference) 
experimental data [36] ;(B) Levonorgestrel (Test) experimental data [36].The top 
panel depicts the fit residuals. 
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Levonorgestrel R

FD/Vd = 7.98 ± 1.01 ng/mL
ka = 1.7 ± 0.4h-1

kel = 0.21 ± 0.04 h-1

χ2 = 10.594,  R2 = 0.93327
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Levonorgestrel T

FD/Vd = 6.6 ± 0.6 ng/mL
ka = 1.8 ± 0.4 h-1

kel = 0.17 ± 0.03 h-1

χ2 = 5.4622,  R2 = 0.95856
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